BHIF AUVISR

ouT

IN

GROSS

HDCP

NET

= B IUT BIE 4336 719 11.0 68.0
EEE O /NEF ¥ 4037 77 6.071.0
3{iL *EIJ.I M 343 70 -2.072.0
A @k fEA 3639 75 1.074.0
b A0 F 4343 86 11.0 75.0
6. £ K M2z 4143 84 9.075.0
162 TEFH 285k 4143 84 9.0 75.0
8L EI FHt 4439 83 7.076.0
Ot EH ik 4243 85 9.0 76.0
1052 #2358 #0E 39047 86 10.0 76.0
11452 7N #IT 46 44 90 12.0 /8.0
1262 Tl BB 4243 85 7.0 78.0
1362 =8 FOE 43 46 389 11.0 /8.0
140 {&EpE 1EZ 3847 85 7.078.0
156 FHH ABE 4742 8910.079.0
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= B Tl 8BF 40 40 80 16.0 64.0
EEEF B FE= 48 46 94 25.0 69.0
G TMA 2B 42 43 85 16.0 69.0
i {ERR FEE 4550 95 26.0 69.0
i /AR BT 47 49 96 26.0 70.0
6fif FHE Fk 43 47 90 20.0 70.0
ML WHF &k 49 46 05 24.0 71.0
8 B X 45 46 91 20.0 71.0
L #FHFAE i 5350 103 31.0 72.0
10 &Rz fi— 45 43 88 16.0 72.0
1ML BAR B— 42 44 86 14.0 72.0
1260 = FiE 43 45 88 15.0 73.0
136 1FiE =) 44 46 90 17.0 73.0
145 ER B 42 44 86 13.0 73.0
1562 BJII BEgr 43 48 91 18.0 73.0




A% LT1s—X ouT IN GROSS  HDCP NET

2 B =H F7 41 34 75 7.0 68.0
2l ARK BHE 43 39 82 10.0 72.0
3{3L ?* RES 41 42 83 10.0 73.0
4431 HE Y 43 47 00 14.0 76.0
H{iL Fﬁ’FT % 42 42 84 6.0 78.0
6 =8 T=&RF 50 49 99 20.0 79.0
14iL %ZE X5 42 42 84 5.0 79.0
8L Al E+F 47 44 91 11.0 80.0
O fHHE —4K 55 57 112 32.0 80.0
10 K <=HY 45 44 80 7.0 82.0
115 #iE E=8F 43 46 80 7.0 82.0
126 B bBE&EH 48 47 95 10.0 85.0
134 ,E# S+ 51 50 101 13.0 88.0
14 & ZELBF 52 5 111 23.0 88.0
15462 ®HH AT F 57 55 112 23.0 89.0




